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(a) State with reasons whether the following statements are true or false (any

six).

(i) Relevance is one of the quantitative characteristics of the financial

statements.

(ii) Provisions can't be made when a reliable estimate of the amount can't

be made.

(iii) Contingent items are always probable items.

(iv) The convention of materiality recommends that there should be full,
fair, and adequate disclosure ofthe financial information.

(v) Input IGST can be utilized to offset the outstanding liabilities of output

IGST before output CGST and SCST, respectively.

(vi) Loss due to fire is an extraordinary item.

(vii) Accounting concepts and accounting conventions are not different.

(viii) Prior period items are those that are occurred and got settled in the
' past. (6x2=12)

(b) Write short note on any two :

(i) Generally Accepted Accounting Principles (GAAP).

(ii) Adjusting events vs. Non-adjusting events.

(iii) AS vs. IND-AS. Qx3=6)

@) A trader imported a machine on 1"'July 2016 for t4,00,000, paid custom

duty and freight t80,000 and incurred erection charges t1,20,000. Another

machinery costing t2,00,000 was purchased from the local market on January

1,2017. On 1" July 2018, one-third of the imported machine got out of
order and was sold for (80,000. Another machine was purchased to replace

the same for (1,00,000 on the same date. Depreciation is to be calculated

at 20%o per annum on the straight line method.

Accounts are closed each year on 31"' December. You are required to show

the Machinery Account for 2016,2017, and 2018. (12)

887
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2. (a) Define the term Inventory as per AS 2. Also, explain the significance of
inventory valuation. (6)
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OR

(a) Explain the terms (i) Cost of asset, (ii) Residual value of assets, and (iii)
Depreciable amount. (6)

(b) The following are the details of the material with respect to certain items of

M/s. Sonia & Co.:

Dale Pafiiculars UniS and Cost pa unit

01.o1.2023 Opening Stock 100 unit @ t 35 per unit

05.01.2023 Purchases 300 units @ t 30 per unit

15.0t 2023 Sales 100 trft @ t 40 perutit

01.02.2023 Purchases 400 unib @ { 35 per rnit

1(\ 02.2023 Loss by fire 20 units

15.02.2023 Sales 180 units @ t 50 per unit

20.02.2023 Sales 200 mits @ { 50 per writ

20.02.2023 Purchases 300mits @ t 50 per unit

Using the perpetual Inventory valuation system, find out the cost ofclosing

stock and cost of goods sold as on 20.02.2023 according to the FIFO

Method. (12)

(a) From the following Trial Balance of a trader on March 31, 2021, prepare

Trading and Profit and Loss Account for the year ended 31"'March 2021

and Balance Sheet as on that date:

J

P.T.O.
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Debit Balonce t<) Credit Balaflces (<.)

Drawings 12,000 Bank Overdraft 50,000

Wases 3l,000 Interest on [nvestment 1l 600

Stock 25.600 Bills Payable 9,200

Loan to X 8.000 Interest on Loan to X 640

Rent 10.000 Capital 2,00,000

General Expenses 2.960
Resen es for Bad and
Doubtlul Debts

500

Inl estmenls 1-20.000 Sales 4.60,000

Purchases 3,20.000 Sundn' Creditors 25 I 80

Freight and Carriage 4-200

GoOdu,ill 80-000

Bills Receivable 12,400

Rates and Tares ., 600

Sales Rerum 4,200

Insurance I,800

Cash and Bank Balance 7 400

Debtors J..' 000

Postage & Telegram 7 600

Land and Building 50.000

Plant and Machinery 20 000

Packing Charges 800

Bad Debts 2560

7,57,120 7,57,120

Additional Information :

(i) Closing Stock as on 31.03.2021 - {32,000.

(ii) Goods worth t I ,400 were sent on 25 .03.2021 as "Sale on approval
Basis" for {1600, and approval was not received before the end of the
month.

@1) 20% of the goodwill is to be written off.
(iv) Further bad debts were estimated at {700, and the reserve for bad

debts increased to the extent of t3,000.
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(v) Depreciate land and building by 3% and plant and machinery by l0%.

(vi) Goods worth t1,600 were distributed as free samples. (12)

(b) M/s Vinod Enterprise has a sum of (60,000 on account of an input tax

credit of SGST in the electric credit ledger' The output GST payable as per

the electronic liability register is as under :

GST Payable/0rtput GST {

Outward IGST 30,000

Outu'ard CGST 70,000

Outrvard SGST

Determine the order of utilization of ITC on account of SGST and prepare

the statement showing the amount due, adjusted, and payable. (6)

OR

(a) The following is the receipt and payment account of Dipankside Club for the

year ended 31"'March 2020:

Receipt and Payment Account for the Year ending 3l"t March, 2020

. Prepare the Income and Expenditure Account for the club for the year ended

3l" March 2020 and the Balance sheet as at that date, having due regard

to the following additional information:

Receipts t Payments t
Cash (1-04-2019) 45,000 Bank Ovodraft (l -04-20 I 9) 93,000

Subscriptions

201E-2019
20t9-2020
2020-2021

9,000
4,86,000
4,500 4,99,500

Sofa purchased on (104-2019) 43,500

Honorarium 90,000

Salaries 87.000

Sundry Expenses 99.000

Donations E,700 Drama Expenses 26,700

Life Membership Fees 20 1 00 Stauonery 42,600

14,400 Cash in Hand (31 -O?-202O) 16,500

Sale proceeds on Old CuPboard.
Book value

? 600 Cash al Bank (31-03-2020) 93,000

5,91r00 5'91,300

P.T.O

25,000

lnterest on Securities
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(i) Stock of stationery on 31"' March 2019 was t3750 and on 31'r March
2020 was ?2610.

(ii) Outstanding salaries for the year amounted to {16500.

(iii) The club has 2160 members paying an annual subscription of(250
each.

(iv) Prepaid Sundry Expenses on 3l ", March i0l9 were (3960.

(v) As on 3l" March 2019, Building stood at {7,35,000 Computer at
(30,000 and Investments at ? I ,95,000.

(vi) Depreciate building, sofa and computer at 60/o. (12)

(b) How would you deal with the following items while preparing the final accounts

of a social club for the year ending 31", March 2024: (6)

Particulars t
Prize awarded 1,40,000

Prize Endowment Fund I4 00 000

8% Prize Endowment Fund Investment on l.t Apnl 2023 14.00,000

Donation received for prize Endowment Fund 2,00,000

Interest received on Prize Endowment Frmd Invest lent tr4 000

(a) Differentiate between Debtors System and Stock and Debtors System under
Branch Accounting. (6)

(b) A head office in Delhi has a branch in Jaipur to which goods are invoiced
by the head office at cost plus 25Yo. Prcparc Branch Account and goods
sent to branch account in the books of head office from the following
particulars:

Opening Stock t25,000; Opening Debtors ?24,000; Goods received
from the head office (Delhi) t80,000; Cash Sales ?32,000; Cash received
from Debton {59,000; Goods returned to head office ?4,000; Cash received
for expenses t29,000; Stock at the end ?30,000; Debtors at the end
(45,000; (12)

4
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OR

(a) Ghaziabad head office supplies goods to its branch at Laxmi Nagar, Delhi,

at invoice price, which is cost plus 50%. All cash received by the branch is

remitted to Ghaziabad, and the head office pays all the expenses. From the

following particulars related to Laxmi Nagar for the year 2020, prepare the

BranchDebtorsAccount,BranchStockAccount,andBranchAdjustment
Account in the books of the head office to find out the gross and net profit

made by the branch. (18)

Boltnces os on 01.01.2020

1,32,000Stock wth Brarch at invoice Price
214,000

Branch Debtors

Branch Petty Cash

Tlaasadlotts during the Year 2020

4,08,000Goods sent to Branch at invoice price

12,000Retum from Branch to H.O. al invoice price

2,t2,ONCash Sales

1,74,000Credit Sales

6,000
Goods Retumed by Debtors to the branctt

4,000Allowance to the customer on Selling Price (AlreadY

usted while in
1,E6,000

Cash received from Debtors

Discounts allowed to Debtors

4,000
Cash sent for PettY expenses

4,800
Rent (Pard b:- head office)

48,000
Salaries (Paid bY head office)

Balmces as on i1.12.2020

1,38,000

2N
Branch Petty Cash

Yogesh Ltd. has three departments: A, B, and C' The following information

is supplied by these departments for the year ended 3l"t March 2O24 :

5. (a)

P.T.O.

1,000

4,800

Branch Stock at invoice Price
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You are required to prepare a departmental trading account ofyogesh Ltd..
assuming that the percentage ofgross profit on trrrnover is the same in each
case. UZ)

(b) Explain the finance lease. Also, discuss its types and features. (6)

OR

(a) SS Ltd. leased a machine to SV Ltd. on the following conditions:

Fair Value of the Machine

Lease Period

Lease Rental

Guaranteed Residual Value (GRV)

Unguaranteed Residual Value (UGRV)

Internal Rate of Return

(()

90,00,000

5 Years

15,00,000 p.a.

-1,00,000

5,40,000

15%

. Discounting factors for lst year to 5th year are 0.g696, A.7561,0.6525,
0.5718, and 0.4972, respectively. you are required to calculate:

O Gross Investment in Lease (GIL)

(ii) Uneamed Finance Income (UFI) OZ)

(b) Whst do you mean by Departmental Accounting? Also, state the advantages
of Departmental Accounting. (6)

Particulars DepofintenlA Department B Department C

Purdrases (Units) 20,000 40,000 60.000

Sales (Unib) 20,800 39.200 2006l
Selling price per
rnit (<) 21 22 24

Stock at the end I 600 2,40A 2,800
Total
during
were

purchBses

the year t 19,t8,000

I

I
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I. (c') frsrfrfur rnerr rle i av* firer rrruT <Fr q-dr{s (atf eru),

1iy r&*-ar ffiq.Eellr} d rl?rfl6. fri,wrfl] { t w *fr *r
(ii) Es uflRr qr v8sidr * uq ffd.rr qfi frfiqr ff ir.6ar ri, 11 yreqFr

.rS fus ur wtr fi

(iv) rifrem * qqrnron :ra ftqirRn c,tfr * fu ffiq Btffirt er $, ffrwa
tr qqFil r+ecrq rt* qBsr

(v) E{Se fleffq{'E ql 3c+Ir jrrrrr: ffrseg{ tfflr& ft crffi t y6+
arcge sr|ffi d corqr fTErRd d wu,+r o,,d * frq frqr Er
rm-ar ir

(vi) sFT * qnrn Erfr \,6 srnqr<q rc tr

(vii) tcta-{ ryry ss Mfi-{ cFlr& imr_irflr cfi rifr *r
(uii) {4 sqfu * cA EE E}fr f S srfia + ES * *i fu{6r ffqem irfrf,

+ A ft'qr vr gmr ir (cxz=12)

(e) ffiiqrtrqMfrtus:
(i) qrqrrroqr r+gifr M6-{ M{ (cAAp)t

(n, tqrq)fifi srrflg Tqrq rt-qqr*qo qr<rSr

(iii) ssr (As) q{H Es-ssr (rND_AS)r (zxa=c)

(q-) E*rt w? d qvr-z * a1tn cfrlrBd dfusr Erd mner, pifl aerq.r
(c)

2.

* qrte qi EEe'dfrgr

P.T.O

liii; urrRra rt E+{n itrrQa qt d* tl
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(e) c-o, qrltft + t gm{ eor d tl,oo,ooo i lc'cfr{ urcm *, ftn-ga
*t cra Edri + ftg <eo,ooo c,r 5rrflT fucr ft qRhtrI {ffi + fds
(1,20,000 s{ frsr r wrst, zorz d rcl+q cniR t <z,oo,ooo d arre

srfr s6 *q qffi €tfr rr€r r gm€ zora d, flrqrkd q{k$ + S& d
t vo M rs<rs * rr{ ft Te tao,ooo i iqr rrqrr grt trnqtr;a *
frs ye ilft€ q} n,oo,ooo i vo .*t qfi-{ €tA rr€r "1urrr d rrur*

fi?ft t€r frfr qt zox vM 6 Et * d urfr *r' !4c- s{ Mft sr

Fdst d d Er& *r srq-d q{ eoro, zou *t zou * fts cffi rgrff

Eriicr *r (rz)

tsIgtrlt

(m) ffiRr rrdt= d ee dfrN (i) cfrucft d mm, (ii) vRuvRr* ar
ircfrrq Tg *t (iii) rsare trq q-{flRrr (c)

(rs) M *Hqr qs ffi fr E6 sqfl) + tdq + cmff r5r frq{vr ffifud
l:

tu fr&or SfrTenrefrgfrzdttld

01.01.2023 nT{F{6d'fi csufrdn61*wrooqfrg

05.0 r.2023 sfi-( coufr{n41a.{trooqftg

t5.01.2023 M r+oufrdfu66w ruoqftg

0t.02.2023 s0-d r:s ufrqhealetw+ooqfte

10.02.2023
.qrq& orq
6rB

zoqfue

t5.02.2023 M <soufrqtrsst<{w rao qfue

20.o2.2023 ffi roufrdfu616wzooqfre

20.02.2023 s{-{ <50qfr{tdfr1E{w:ooqfre

ftrR r+dt {flr6-{ cw& 6T sc+{r sn*, ffi (FrFo) Rfu +
ir$R 20.02.202s d Jfr{ rfr * arrrc *t +S:r{ aEa} d arqa mr
dtucr (rz)
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(c,) sr rr{, zozt d co. qrcrt * ffika ra-.rc t, st q{ zozt d rrqr.a

s{ * Rs rqlqrR6, Grdr *t arq aqr aftqrar *t st R& * a-6n **t
frd +qR *Fds:

qt+ic t<) qctxlc t<.)

.{l-6{0r 12.000 t-r.lhdr$qr 50 000

c-d-{S frdqrw6qrq I1,600

d-6 25.600 eqfrH 9.200

x+Jfrqtrrqrgqrc 8.000 ffilTqt*{q{
ql,,l 640

fuTqr 10.000 {-s 2.00.000

HTqf{dFI 2,960
;r1* q1q{itrJqrail},
frqstnldafrfq

500

fr*{r 1,20,000 M 4,60.000

sftq 3,20.000 fr'Eqd-+sR 25.180

cTdEf,r€qrsI 4.2U)

1sfdo 80.000

srqfus 12.400

d.:irran 3 600

R#i!ftm-d 4.200

ffcl 1,800

q-6-A 3inao'fr{6ETts 7 ,44)

-r-{F 33,000

sr-o eirrtftirc 7,600

UEutt{rra{ 50.000

ririr 3ilrqeiqs 20,000

ifrqwm 1100

c{qftqx'ur 2560

1,57,120 1,57,120

crftfrm vra-oft:

a

(i) 3r.03.2021 d ffiq d*. - t32,ooo.

P.T.O

I

I

31,000

I

I

I

I

I

I

I

I

I

I

I
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(ii) 2s.03.202r d a,loo rfir cFtm trooo * frs "trd+dFr $ qrirr vr

kff' + uq I *ur rm w at( q+{r vqrq ri+ t E4 JEi?T nrq

<& gim wr

(iii) Iskd 61 2oo/o sa <t+ t srtr* il

(iv) g{+ ililrsr frfra ant qr fftqrrT Oo0 qr sr sh irfrtn;E!t + frs
flr{fud AE ?3,ooo d ftqr ro cq rr€ Sr

(r) {R ft ffI;r 6r ., 5L ffi *r qffi 6r lo% T{rars dftsr

(vi) il,500 1u * utm * ft:1rm qt+ * 6c + ftilfrfr fr'qr rturl

(rz )

(q)tq$ ffiq \Eicrrg * vm :tkqm *R. *€T-c& i vc-ffi * r<ge

c.l *Ec * fts <co,ooo d ffinRr tr ffia tlrdr rfufr * u-gun

ta uruegr ScfiA ffqEffi *:

tqWren-seWffi t
qrfion€-d(rs8

ils-+.d-ffi 70,000

vr+6qqffil 25,000

\,{-ffi * qrur flr{zt$ + sc+{ 6r rm ffi dFrs ft ffi, rrflAfud
ft tq q-fiRr rnlt Ev Ertsr tqn dfrsr (o)

SIEIAI

(e ) st rd zozo d tqtq e{ + fts ffiqr{s rttir 6r Hfr rt trrfl-{ €rdr
ffikr *:

sr trr{ 2s2s d qqr.a sS + fts Hk *r $rdrr rsrfl

30,000
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sl ad 2o2o d rrqrq s{ + fts m * frs qrq ilti qq sat utt gc

ilt€ + q<n ttt rfte +qR qfmq, ffikd sfrRsf, tslrolt d tzrr*

t ret Es:

(l) sr q{ zote d ffi qr tdc- <s7so vt a}t st qr{ zozo q} tzcto

CIT I

(iD q{ + ftq ffircr tt-t <tssoo *t

(iii) ffiq t zteo q.qs * + lr&6 <zso * qlff-6. Fqs<r cr grnn crfr

*r

(iv) 3t qrd zots d $rfl frfru qq <se6o +l

(v) sr rrd zotc * sdm, rrfi {7,35,000, 6t{c1 t3o,o00 ft frarr

il95,000 6I sIIl

(vi) rc<, *s'r ofu 6.q:{ 6r {q6rs ox qt *frgr (tz)

qlfrqt { uq-dF t

+ofi (r-o+-zots) 45.0m i-+ qlarglw 
t t -04-20 I e) 93,000

3tFmn

9,000
4,85,000

4,500 4,99,500

(r rN-zo r s) al qfifi rrql Swl 43,500

qHeq m,000

a-dT 87.000

frfrEqq 99,000

EH 8,700 grcIqq 26.700

ffiaq-Csargeo 20,100 €Rr+O 42,600

ufrrlfrdwanu 14,.100 6paff nffi1:r-o:-zozoy 16.500

Cqr{ qsqrfr 41ffi t qtq
onurqucsqm;

600 toflq+-d (:r-o:-zozo) 93 000

5,91,300 s,91roo

P.T.O.

2018:2019
2019-2020
2020:2021
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fie) sr rd zoza d wrq ** qr& s{ + fts vfi r*srfi ftrc + $h{ €r+
+crr q,t+ {.rq flFr ffifur q-d + +t ffi, (o)

fu{wr t
qrsqfrqrrrqr 1,40,000

qrfs(rsfrzqrs 14,00,000

r erho, zoz: oJ cr{q E$+c.ils frd$ eI ax 14,00,000

cr{qGfrzIiE&'ftScrqTqH 2,00,000

cr{q \r$fre S-s Ftict w crw qM 84,000

4. (o,) rrnqr M6t + $ffid trrflr yqr& lr1l €io. *( tfiR yurfr + +s ffir
Sfrsr (c)

(e) ffi t fur y'qm qrqfdlq * vcgr d ydr. rnc{r *, frr<} crm 6.r srflr+
xtn< q,qtaq EN 2so/o + lr&q. dFrit yr ftqr urin il nrsr qnn *t mqr
€R + +i {s cril 61 ytnr qrqiaq * +€r-ERqt* d ftqp,fuo ft-{ttt +
qrrl tcR dfrs,

nnfr+, d'o' {2s,o0o; qRfic, ?-rrfi (24,ooo; rar dqliiq (ffi) i vra
Eil qrdr t80,0oo; ;r*-c frfi ?32,000; tT{ril + erqt i?6..& (se,000; yuFr

e'rcFf,c d <tq€ fu'qr rrtt rlrT t4000; qq * ftS cFT g{ c-6.e r2e,ooo;

ffi{ *6 ?3o,ooo; ffi{ ?rfi t4s,ooo. (rz)

BTeIaI

(o.) mfume t fta ytn+ urqfdq aefi ;rm, ffi i erq* uqr * 
"rdm 

{q
c{ qriT d ffi orar *, d arrrr t soz srfu+.*r nret anr crw €{t
r+ft rnhqnn +m A vrft *, *r cun q'rqtaq (rt wJ q.r t:rffr Erdr
il q{ eozo + frC dS rrn t nffir frqfrfuc ffi'+ t, nnsr tfiR
<mfi, rrlrrr riq <nr *t rmsr rcr+s-{ Ettitr yaFr qrqfdq d +€r_cfr+
+ +cR dfrs inB nrsr anr frg rq qtna stt {-a mr d aro fu.qr srq-*r (re)
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I5

01.01,2020 zlr|@Tqrelc

Evwvps6 qrqgq.rd{Riil.+so.

1,32,000

44,000

t,000Et'mn d\wfrTl-
<,, qTdre,

dqo. c{*q {Ir€I Bi +sr cmqsr

4,08,0a0#q-€ qtFq s[Er dRTqEI" olqf-sq s} Etsg fuqr IIqI
12,000T€-{friDt

t,74,000ffi ER, flvr fil flqg Bsr TqI cTd
6,000

cTm-f,s.
{s gqqrtf,I

4,000

l,86ooo

4,800$-eweubftq0-dT{ r-o-o
4,000furrqr (gqH orqfuq ERI urrdB)
4,800ta-c1rtJTT61qfoq emxq6rq1

48,000

#eogqqq$€T€fu

snsrF-c€tr*-d

(m) +n{r fthas A ft-{ ftqrT *: a, e, ,*t c. sr \ti, 2024 qi wrq +}sr+ s{ + fts gt ft{r+* Em Rqfrfu{ w{firft y_flT et rrS *,

5.

2,12,000

1.38,000

200

P.T.O.
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fu{w frwtA frtmrn fuqmc

20,000 40,000 60,000

ffi6qP{c) 20,800 39,200 6l 200

qfr {B-i furq
{d(o

21 22 21

.rrPdcd+' 1,600 1 400 2,ri00

s{ }. dRH S-d
stEfi t 19,1E,000

flrqq1 *tn Rfr& q,r c6' frlnffq qqrRa'ertr tqn q.lar *m, qt'

rnt Es fr qrqtr+d (rftil{r) qr {6-6r mt qr vftna v-do qm& + {cFT

*r (tz)

(e) R-a € fr qrcm dtusr <rq fr w+ mril sk friq-dr* ct fit dfuqr
(c)

ixcEtt

(q) w.rq. frfris * ffitur rrd + irfi-{ c6'Titr{ \'t. A fthas d c}
vrfl

c{trr Er vfua acr
ca * ilEE
qi cr ftm
lnrfuil wRq {R (cRV)
+(-rlr&F rqfr'E t€ (UCRv)
sidRs yRqrd Er

(?)

90,00o00

ss{
rs,oo,ooo qrfifq.

3,00,000

5,40,000

t5y"
tr6& s{ t st q,{ * frs BF r6rG6. ifrrrr: 0.8696, o.7s6r, 0.6s7s, 0.s718*t o.aezz ir inq+i fteftfu d wnr q..r& *,

(i) ci + rr6-d R+{r (GrL)

(ii) infrtir ffic arc (UFr) 
(rz)

(€) fr{rftq
qil{gl

+{n6T + ilFr f,r r€t t? qrq & fu{Ftq Msi + drrr rfr

(o)

(50,000)

s0-(qf{o


